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(i) 18 B (iv) 4 B
aflen : (Qp) (1) 4 (ii) C (iii) ¢
4. evTaumld SevormigHemeTL LIl lguish (Lpsmmulled
6T(LDGIS.
(i) 4=20 -8 Gemmeurer @ enL LILIEnL
@uwied eTemT 66w SH6mTLD.
aflem : 4=1{2,4,6,810,12,14,16,18}

(iv) ¢

1
5y B={y:y=—,neN,n<5
(ii) vy o }

I 1 1 1 1
aflen: B = PR T BT
2 4 6 8 10
(iii) C = {x : x 6T6OTLGI 6 (LP(LLESHSH6UT 6T6u0T
mmId 27 < x <216}
aflenL : C = {64, 125}
(iv) D={x:xeZ,-5<x<2}
afleo : D={-4.-3.-2.-1.0.1.2}

5. Ueieu(hl SEmTEISEm6TS S6mTd: SL L emLoliL

eomulled 6TGIs.

(i) B=6wn Brar oULmsaflsd @I mié
sougss @HW WLl  Ukg
efraefler GEm @Gy

aflen : B = {x:x eT6OTLIG 6315 BT aT ST 6UCHE
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Qi affi)
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(ii) c—{2,3,4,...}
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(iii) D= eif gy euiriged 2 avem SLhlp
Lrgmisefler G m@Ly.
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(vi) A @60 2 aTer 6a1GeuUMT 2 MIILjLh B @)60 @I(HHST60 A 6T60TM &H6U0TLD, B @607 2 L S600TLOM (S)LD.

(vii) 4 Bummid 4= B, eafled 4 eaTm sewrd, B @leT &@ 2 L S60TLom@GLD.

(viii) A eTEnILD SevoTSHSlET Z|6WEUT 5G| 2L SEUuTHBISEm6TIILD ClEHTeuTL S6Tid A @)6tT 9(h&h (G S6u0TLd
L GL. @& P(4) eens GHIILIL@EInS.

(ix) memlyser QsmewiDeTer 6 sanddlear 2 L seanmksefiler oeaamilsma 2™
x)  m emliyser Qe HeTer e SamsdleT &@E 2 L saunmissfler seumilsma 2™-1=n(P(A)

uELLgD Uedory

A, B opmib C ereotLIent eTemeuGUIEDILD eLp6OTM)| SH6T0TIRIGET 6160160

AN(BUC) = (ANB)U(ANC)

@erruder Wanerr eeu®) AUBNC) = (AUB)N(AULC)

(@euLgetT LEsTeuT El6UL(B)

viinA 1.2

ereupd semmisaflesr g &l eTemTemevoTs:
SHITGUUT &.
(i) M= {p,qrstu} afleL : n(M) = 6
(i) P={x:x=3n+2,nec WmmLd x <15}
aflew : P ={2,5, 8,11, 14,17,20,23,26,29,
32, 35, 38, 41, 44}

n(P) =15
(iii) O={y:y=— neN pmmib 2<n<5}
3n
aflew: Q= 4+i +i
"7 9 12 15

n(Q) =3
(iv) R={x:xQe0TGl (PW&SSH6T, x € 7
mmih —5<x <5}
aflew : R ={-5,-4,-3,-2,-150, 1, 2, 3, 4}
n(R) =10
(V) S=1882(ps60 1906 66T 266
J\emeuT g QmLLmewT(hlE6ifleor
(Leap year) S6u0TLD.
aflen : S = {1884,1888,1892,1896,1900,1904}

n(S) =5

Nevtaugpld - Sewrmisaflsd  eTemeu  (gayn)
S600TLD, 6TEM6 (LPlpeMITS: SH6U0TLD 6T60TEH &n )15
(i) X = giblpssgdle 2 erer wra L KigeflsT
&6U0TLD. aflenL : (Plpa]m
(i) Y = ewm uerefl eufld Qasdgd
Cri&Casm(hsaflsr &euorin.
alemL: (lgeymT
(iii) A={x:xeZLOMID x<5}
llemL: (lgeymT

il
a

(iv) B={x:x"-5x+6=0,xeN}
aflenL : (Plga|m

91687 621 (T 6u60T QUM l6D 6T6M6L SFLOTEUT S6UUTIAIE6IT
VG  FLOMM — SHEUTRISET  I|EV6VG)
FLOGEMIBISET 6T60TS SnM)I5.

(1) A=gpmidle 2 QT Wssiseatlar e
B= 'VOWEL e6teoim G&mededled o arer
sTSaIsefleT sevorid.

(i) C=1{2,3,4,5}

D={x:xeW,l<x<5}

(iii) X=x:x eTeurLg)

GQ&meelled 2 eiar
geword. Y = {EL,L,E}

(iv) G={x:x 6(p USIT 6T600T 3 < x < 23}

H = {x: x 6T60TLIGI 18 [@)60T 61(S) 6TEUHT 61T }
aflenL :
(1) A={ae,i,0,u};B={V,O,WE,L}
n(A)=5nB)=5
GLOITGUT S6U0TIRIG6IT.

(i) C=1{2,3,4,5:;D=1{0,1,2,3,4}
n(C)=4;n(D)=5
GLOLOMM &600TMRIS AT

(i) X={L,LEE};Y={F,LLL E}
nX)=4;n(Y)=4
&LD &600TIRI& 61T

(iv) G=15,7,11,13,17,19};
H={12,3,6,9,18
n(G)=6;nH)=6
GLOITEUT &56U0TIRIS: 61T
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4.

Yeoteu(meusareummled sTemen  Gleumm)s&6mTid,
6T6M6 6(HMILIL|SE6U0TLD 6T6ITS> SHIT600T .

(i) A={x:xeN,1<x<2}

afleoL : Goummisseuomid. A = { }

(i) B=2 Q0 UGULTS W6 S
@rlenLliuenL.  @uied  eTemTa6rleuT
&H600TLD.

aflenL : Gleunmi&&euomd. B = { }

(i) C = {0}

aflenL : 6(HMILIL|SS6UTLD.

(iv) D= [BM6TE USSHISmET 2 6oL LU
& CamemTmigetle euuLd.

aflenL : Gleunmi& sevord. D = { }

S = { &g, ClEaiasLd, oI L LD, STUISSITLD,
W&Camemmid} erefled Llereugmd, S @6t
2 | semrmisafler 2 milisamery L g wiedl(his

(i) mmeT(E FLOLIS GBI 60 61T 2 ML
6Ll 6UBISH6II60T GH6uuTLD.
el : {SgITLD, FTUISGITLD}.

(i) QLUESEMET 2 LW  AlgeuEISeTleTr

&6U0TLD.
aflenL : {GUI;LLh}.

(iii) oL Gameumisaflar g (g 180° g5
2 GOLUW 6ligQIMBIGETI6UT. S6wrLd.
afleoL : {(PSCamevonid).

(iv) 5 USSEISHEMET @ 6L | 6lig UBIS6I 60T
&H6U0TLD.
aflen: {}
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CerOssiu L samd Gamesear Glaul (HLb
SEUOTRISETIT ? 9)606m6 GleUL LT SH6UTHRISETIT ?

(i) 4 :{f,i,a,s} LMD B = {a,n,f,h,s}

(i) C={x:x Q@ UST 6T6WT, x > 2} LMHMID

D={x:x 6 @I eLLLenL LI&TsTemr }

(iii) E={x:x eteiugl 24 @t &myevefl}
MWD F = {x:x I6Tg 3@6UT LIS,
x <30}

elemL:

(i) A={f.ia,s}
B= {a,n,f,h,s}
ANB= {f,a,s}
A wmnib B Geul (LD sewTmigeT
(i) C= {3, 5, 7311, 13, .......... }
D={2}
CnD={}
C ummib D Geul’ L8 SemrmIsar
(iii) E={2,4,6,8,12,24}
{3,6,9,12,15,18,21,24,27}
ENF ={6,12,24}

E ummid F Gleu(hid SemrmiseT.

A :{a,{a,b}} oteufled, A 60T  6TEOGUI
2 I S6U0TRIGE0EMUILD 6T(LDGIS.
aflen : A Q6T 2 L' SemTmIS6T

@, {a} , {a,b} , {a,{a,b}}

Ulssremeusreummlest 95l S 60015605
SHIT600T 5.

(i) A=1{a, b} (i) B={1,2, 3}

(iii) D=1{p,q, 1, s} (iv) E=0

aflen :

(i) P(A)={9, {a}, {b}, {a, b}}

(i) P(B) = {{} {1}, {2}, {3}, {1, 2}, {1, 3}, {2,
3}, {1,2, 3}}

(iii) P(D)={{} {p}, {q}, {r}, {s}. {p, q}, {p, 1},
{p,sh{q r}, {q, s}, {r,; sh, {p, @, 1}, {p> @, s}
{p. s} {q, s}, {p,q, 1, s} }

(iv) P(E)={{}}

Yot e(mLD SHemTrRIS 61fl60T 2L S5 6U0TMEISH AT LOMMILD

&G 2 L smumsefler eTemeul&Hmamd

SHITGUUT 5.

(i) W ={&leuliy, Beuld, LoEheai}

(i) X={x:xeN, x> <100}

aflenL :

(i) @ri® m=3

(i) oL semrmi&eafler eTemreuntlsema
m=2=8
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5@ 2 L seuimigafler eTevorenilsma n[P(A)]=2m = 2¢
=23'"—1 n[P(A)] =2x2x2x2 =16
=21
—8-1 (i) n(4)=0=m, n[P(A)]=2"
=7 @& m=0,n[P(A)]=2"
(iii) X={1,4,9, 16, 25, 36, 49, 64, 81, 100} _
@rREm=0 n(X)=0 -
2 | SenoTEIG6N6uT 6TeutTovuTIS6mE (iii) n[P(A)] =256 2 | 256
2m =21=1024
m_ 2 128
&G 2 L sewrmigefler srenenillbema= 210 -1 ng (:ljr??n > T ex
=1024-1=1023 ) ) —
i i i 2M=2X2x2X2x2Xx2x2x2 2 [ 32
10. (i) n(A)=4, sTetfled n[P(A)] @& &euEis. m=8 2 | 16
(i) n(A)=0 eteufled, n[P(4)]QS SMEWIS. P 2 3
(iii) n[P(A)]=256 stafled, n(4)ms SHremis. n(A) = m ) 4
aflen : n(A) = 8 2 2
(@i : n(A) = m, n(P(A)) = 27] 1
(i) n(4)=4 n[P(A)]=2", m=4
BenGcoTeY SnltCUGMHETEIT &|15S8)861T
>  &cor ASBwnesSSMemeoT 1 LOMT&H6T hld a6
A, B pmib C eredtLieot sTemeuGUIsDILD LpedTM) SH600TRISET 6T6vfl60
A-(BYUC)=(A-B)"(A-C)
A-(BNC)=(A-B)Y(A-C)
>  &coor BoUB\&emeor 19 OMT&ET a6
U er601LIg1 Slewe015516 &H600TLD, A, B 6160TLIEOT OIH60T 2L SH60UTRISET 6T60f6D
(AVB)=A'"B';(ANB) =A'UB'
vSiHA 1.3
1. Qar@&siu’L  QaustuLgdled  @mES Q) A
SOpwieTen  SewTmGeatleT 2 miliSemeT o B
TGS, (if)
(iii) AUB
A B U (iv) A~B
(v) A-B
(vi) B—4
(vii) A’
1 12 (viii) B’
(ix) W
(9 ) Sue - 1
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i) 4

ii) B
iii) AUB =

allemL_:
~{2,4,7.8.10}
={3,4,6,7,9,11}
(2,3,4,6,7,8,9,10,11)

v) A-B={2,810}
vi) B—4= {3,6,9,11}

vii) A' =

(viii) B’

(
@i
(
(iv) ANB={4,7}
(
(
(

U-4

A'={1,2,3,4,6,7,8,9,10,11,12} - {2,4,7,8, 10}
={1,3,6,9,11,12}

=U-B

={1,2,3,4,6,7,8,9,10,11,12} —{3,4,6,7,9,11}

={1,2,8,10, 12}

(ix) U=1{,2,3,4,6,7,8,9,10,11,12}

2.

Swed - 1

etT QU(BLD SHEUTEISHEHES 4B, A B, A— B,
LMD B— 4 STEWIS

(i) 4={2,6,10,14} wimib B={2,5,14,16}
(i) A={a,b,c,e,u} oI B ={a,e,i,0,u}
(iii) A={x:xeN,xS10} LD,Lf]QJLh
B:{x:er,x<6}

(iv) A = 'mathematics' etarm Gl&mevedled
2 giTem 6T(Y&aIs 66T E@evurid
B = 'geometry’ 6TeoTm Gl&mebedled o 6iTerm
6T SGIS6T e, &6voTLd
ellemL:
(i) 4={2,6,10,14}
B={2,5,14,16}

AUB={2,5,6,10,14,16}
AnB={2,14}
A-B={6,10}
B-A=1{5,16}

(ii)

(iii)

A={a,b,c,e,u}B={a,e,i,o,u}
AUB={a,b,c,e i, o,u}
ANB :{a,e,u}

~ {b.c)
B—A={i,o}
A={x:xeN,x<10}A={1,2,3,4,5,6,7,8,9,10}
B={X:X€W,X<6}

B={0,1,2,3,4,5}

AUB={0,1,2,...,10}

ANB=1{1,2,3, 4,5
A—B={6,7,8,9,10}

B—-4={0}

(iv) A={m, a, t, h, e, i, c, s}
B={g,e,o,m,t,r,y}
AuB:{m,a,t,h,e,i,c,s,g,o,r,y}

AmB:{t,m,e}
A-B={a hic s}
B_Az{g>05r9y}

il
—
(=]

U= {a,b,c,d,e,f,g,h},A ={b,d, f,h}
whmis  B={a,d,e,h} eeafle DNevreugmd
S600TIBISH606M S GHIT6U0TSH

i A (ii) B'

(i) A"VB' (iv) A'NnB

(v) (AU B) (vi) (AN B)

(vii) (47 (viii) (B

allemL_:

(i) A=U-4 ={a,b,c,d,ef, g h}
- {b, d, f, h}

={a,c,e, g}

(i) B'=U-B

={b,¢.f, g}
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(iii) 4'UB'={a,b,c.e,f,g)
(iv) AnB'={c, g}
AmBz{a,b,d,e,f,h},
(v) AUB={a, b, d, e, f, h}
(AUB) =U-(4UB)
={c.g}
(vi) AnB={d,h}
(ANB) =U—(4NB)
(AnB)' =1{a, b, ce f g}
(vii) (4') =U —(4)
={b.d, [, h}

(viii) (BY=U—-(B) =B
={a,d,e, h}

(vii) (4) =4=U—-(4)

={1,3,5,7}
(viii) (B'Y=U—-(B')=B
=1{0,2,3,5,7}

5. Qamr@ssiulL  saumseaflar ST
aSFHTEid Sremrs.

(i) P={2,3,5,7,11} whmgb O=1{1,3,511}
(i) R={l.mn,0,p} whmd S={j.l,nq}
(iii) X ={5,6,7} wmmid ¥'={5,7,9,10}
allemL:
(i) P={2,3,57,11

0=1{1,3,511}

PAQ =(P=0)u(0-P)

4. U={0,1,2,3,4,5,6,7},A={1,3,57}

mmid B=1{0,2,3,5,7} etevfled Llevreu(mLd
S>600TIRIG 606 S S5IT6U0T .

(i) 4 (i) B’

(iii) AU B’ (iv) A'nB
(v) (4UB) (vi) (AnB)
(vii) (4" (viii) (B")
allemL:

(i) A'=U-A = {0,2,4,6}

(ii)) B=U-B =11, 4, 6}

(iii) A'uB'={O,1,2,4,6}

(iv) A'NB'={4,6}

(v) (AU B) ={U—(4UB)}
AUB={0,1,2,3,5,7}

(AUB) =U—(4UB)
={4.6}

(vi) (ANB)'=U—(4NB)
(A~B) = {3, 5, 7}
={0,1,2,4,6)

il
[y
-

P-Q =427}
Q-P={1}
PAQ=1{1,2,7}

(i) R={/, m, n, o, p}
S={j.l,nq}

RAS = (R-A) = (R-S) U (S-R)
R-S= {m,o, p}

S—-R={j.q}

RAS =(R-S)U(S—R)={m,o0, p, j,q}
(iii) X ={5,6,7}

Y ={5,7,9,10}

XAY=(X-Y)uU(Y-X)
X-Y={6}
Y - X ={9,10}

XAY =(6,9,10)

Swed - 1
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6.

ses GOuibhsemers CQamemt(h LleTa(mL
Blpell L u@dlullemenrs @MILUlLay.

U

(i) B4 ,
(ii) (4UB)
(iii) (4—B)U(B-A)

(v)

Q)
Al
7. A, B esotuer Qe (Hb&eermisaT hHmih A BY] ce(vi)
U 6Te0TLg) O|6meiT &g S6miid 6T6uflel,
et eu(meustTeumenm GlevetTLL gled B
SIS &L )
(i) AUB (i) ANB @
(i) (A BY (iv) (B—A) |
(v) A'UB (vi) A'NB AUB
(vii) GleuesTUL LD (iii) LoMMID (V) &9 y . . o o
2 MICETES 2 aTaImLIL &(HSHmS (vii) Alommid B eTeoruenr Gleul L s s 6mrmis 6
6T(LPSIS. steufled (ANB) =A"UB’
Ben6ITa| FnfEQUSMHETCIT &|(5858)&H6IT
> @eor lsBwnesEhencr 1y wriser | > vflwrdmd vedory
B s 1) AUB=BUA 1)AnB=BMA
) A-(BUC)=(A-B)N(A-C) > Gefbyl verory
. B 1) AuBuUC)=(AuB)UC
i) A-(BNC)=(A-B)Y(A-C) i) AN(BAC) = (ANB)NC
>  &eaor BgUSl&esmeor 19 LOMT&GET 6hld &6 > ukdeed uebry
i) (AYUB)=A'NB )  ANBUC)=(ANB)U(ANC)
i) (ANB)=A'UB i) AUBNC)=(AUB)N(AUC)
vindl 1.4
1. P=1{1,2,579}, Q=1{223,5,9, 11}, 1) PuQ =1{1,2,3,5,7,9, 11}
R=1{3,4,5,7,9} wbhmd S = {2, 3, 4,5, 8} (PUQR = {1,2,3,5,7,09, 11}u
ereaflev, i) (PUQ)UR {3,4,5,7,9}
ii) PNQ)S ) =1{1,2,3,4,5,7,9, 11}
e S)~Rohf . M ° . 11) PﬁQ = {2, 5, 9}
Gﬂ@Lll.l) (QNS)NRepBweumhermé s&medors (PRQ) A S— 125,90 12.3.4.5.8)

' = {2, 5}
P=11,2,5,79},Q=12,3,59, 11}, i) OrS = {23 5)
R=13,4,57,9},8=12,3,4,5,8} (QNS)NR = {2,3,5,)n{3,4,5,7,9}

= {3,5}
Swed - 1 k(12 )

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.CBSEtips.in

Qleon@wimeor Frél 9 - sevoflgLD
2. Daraumd &6oTm & s ISl udlomhmd (ALB)uC ={m, n, p, q, r, s, t}u
ucloTysemens Condés. {m, n, p, q, s}
P = { x:x ©peorgy 2 wpm 7-6& o - {m:n:psq:rasat} """" (2)
SLCw 2een QB QWAWedT} WHMLD (1) wpoibd ) edlaBbS!
Q = { X:X Gheors 2 HMID 7 - HS SOLCW (AUB)U C=AuU (BUC)
9 eitem hBspm) eredor
eHleoL : 9@ w } 4. A ={'111 —\/EI-\/EI 7}IB = {'\/§I —\/51 6113}1
' . wimb C = {2359} Spdwabtibeds
scaormseflear GaLpossmear Ce&miyl
@ ucdorSlemcors sfumiésss.
eflemL : GleuL BosmeoT GaITLL| LI6voTL
o — ANBNC) =(AnNB)NC
urfliombmit uevory GarTLiLy BAC = {\/:,‘)9 \/5}
PQ = QP ANBAC) = {5} L/ 4 1)
Gl6U6TLL 5560 S(HHS ARB =
PLQ = P=QUP = 5}
urfllombmiLs Levory eeuL® (ANB)nC ={f} ... 2)
PmQ = QmP ‘ (1) HmILD (2) elBHE
QuetTLIL H56D BB ANBNC)=(An B)"C
PAQ = Q= QAP 5. A=fx:x=2"n€ W oHpmib n <4},
3. A= {p9 q, I, S}, B = {ms n, q, s, t}a '-D'j)'_mlb B= {X X 211, n<N I.Dil'_mlb n S4} I.D@mjl.b
C={m,n,p, q,s} creoflev, scaormiserflcor C=40,1, 2,5, 6} ercoflev, scoormiserfleor
Geilyssnmear Geflyld wUGdTyY s en s QaLpssnmar Cediyl U edr S e cor &
efluniée. efluniés. . )
efleoL : chlemL : [y : 2°=1]
A= {p’ q, T, S}, B= {m, n,q,s, t}, A= {17 27 4: 8}7 B= {29 49 69 8}9
C= C=1{0,1,2,5,6}
- {1’1’1, n, p, q, S} _
BuUC ={m,n s, t} BAC 1261
-1 4> P, S, AN(BAC) =12} ... (1)
AUBUC) = (AUB)UC A~B = (2,4,8)
AUBUC) = {r,p,q,s, }ui{m, n,q,p, st} (ANB)NC=2} ...... (2)
= {ma n,p,q,Ls, t} """" (1) (1) LD!DQ]LD (2) GIS]@LF)QI
AUB = {m,n,p,qrs,t} AN (BNC) = (AmB)C
vSiHA 1.5
1. OB 26nen GacTULS S 60l Kk | Nl
S1pSSTEANID HEITMHISEDETE &ITCIOTEH. i) A-B={3,4,6
) A-B iB-C i) B-C={1,57}
lll) AUB ' l‘f) ANB N = {_3:-29-150’152’3,4’556’7,8}
v) (BLO) vi) A - (BUC) A =LA
vii) A - (BNC) A
={-3,-2,-1,0,1,2,3,4,5,6,7,8} -
{-2,-1,3,4,6}
Al = {_330,132,537,8}
B =u-B
= {-33-29'1705172537455765778} -
{'25'155,758}
B' ={-3,0,1,2,3,4,6}
k(13 ) Sue - 1
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iii) A'UB' ={-3,0,1,2,3,4,5,6,7,8} AN (BUC)={-1,0,1,2,3,4} — (1)
iv) AnB = {3,012} RHS AUB = {-1,0, 1,2, 3, 4,5}
v) (BUC) = uU-BuUC) AmB={0,1,2,3,4}

(BUC) = {-3,-2,-1,0,3,5,7,8} ANC = {-1,0,2,3,4}

(BUC) = {1,246} (ANB)UANC)={-1,0,1,2,3,4} — (2)
vi)  A-(BUC) = {4,6} M wonid (2) lapbal
vii) A-(BNC) AN (BUC)=(ANB) UANC)

(BNC) = {-2,-1,5,7,8} M {-3,0,3,-2,8} er60T FlLMTSSLILL LS

= 12,8}
A-BNC)= {-1,3,4,6}

2. K={ab,d, e f}, L={b,c, d, g} woHmud
M = {a, b, ¢, d, h} ereiTm &cOTRISEHSISL
vy fdscnens efluniss :

i) KU (LAM)
ii) KN (LUM)
iii) (KYL)N (KuM)
iv) (KNL)YUKMNM)

GhlemL :

(i) LM ={b,c,d}

KUuL~M) = {a,b,c,d, e, f}

LUM ={a,b,c,d, g, h}

KN(LUWM) = {a, b, d}

KUL = {a/b,c,d, e, f, g}

KuM = {a/b,c,d,e, f, h}

(KUL)(KUM) = {a,b,c,d,e, f}

KnL = {b,d}

KM = {a,b,d}

(KNL) U (KNM) = {a,’b, d}

3. A={x:x€Z,-2<x<4},B={x:x¢€
W, x < 5}, wpmyp C = {-4, -1, 0, 2, 3, 4}
etaoTm ScoTmisEnseS AN(BUC) = (ANB)

(ii)

(iii)

(iv)

UWANC) eratucnsg & efuniéss.
chlemL :
A={x:x€eZ,-2<x<4}
A=1{-1,0,1,2,3,4}
B={x:xeW,x<5}
B=1{0,1,2,3,4,5}
C=1{4,-1,0,2, 3,4}
LHS BuC = {-4,-1,0,1,2,3,4,5}

Swed - 1

4. QaaruLms@merl UWGTUWS S
AU (BNC) = (AU B) N (A v C) eretucng s

a=rﬂunr'résas

Au(BmC) ..... 1)
A%B
C

AUC

BnNC
AWB
C
AUB
A B

C
(AUB)N(AUC) ..... 2)

AU (BNC) =s (AUB)NAUC) sfluniésliurLg)

5. A={bsc,e, g h},B=1{a, c, d,g, i} oHmd
C = {a, d, e, g, h} ereoflev, A - (BNC) =
(A-B)U(A - C) creor&a&mighss.

chleoL :

BNC ={a,d, g}
A- (BﬂC) = {b’ ¢¢C g h} - {aa d: g}

il
—
N
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= {b,c,e,h} ... () at+1 .
A-B = {b,e h} 8. A={y:y= > ya€ W opmd a <5},
2n-1
A-C = {b,c} B={y:y-= ,n € W whmid
(A-B)UA-C) = {b,c,e,ht ... ?) 2

() womid (2) eOlpHS!
A - (BNC)=(A-B)JUA - C) sflunrisasluLLg)
6. A={x:x=6n,necW womibd n < 6},
B={x:xx=2n,necN whmb 2 <n <9},
womd C={x:x=3n,neN oHmb 4 < n
<10} ereofled, A - (BNC) = (A -B)U(A - C)
GTGOTS S (h&.
GhleoL :
A=1{0,6, 12, 18, 24, 30}
B=1{6,8,10, 12, 14, 16, 18}
C=1{12,15,18, 21, 24,27}
BNC = {12, 18}
A-(BNC)= {0,6, 24,30}
A-B = {0,24,30}
A-C= {0,6,30}
(A-B)U(A-C)=1{0, 06,24, 30} ...... (2)
1 omILd 2 eblapHE
A-(BNC)=(A-B)U(A-C)

7. A=1{2,0,1,3,5}, B={-1,0,2,5, 6}, oHmb
C=1{1,2,567 emofico, A - (BUC) =
(A-B N (A-C) ereoréss s&mihés.
GhleoL :
BuC = {-1,0,2,5,6,7}
A-BuC) =42,0,1, 3,5} -

n <5}, opmo C = J-l.-l.l.i.ZL ereoflev,
i

A -BUC)=(A-B)"(A-C) ereoré s&mhss.
chlemL :

123456 1.3 .5
A= VYT T Ty (= _919_727_73
222222 2 2 2

A-(BLO) = {51%23222} _BUO)
A-(BUC) = {3} o (1)
(A-B) = {1,2,3}
15
a0 = {339
(A-B)n(A-C) = {3} . )
(1) oppi> (2)

A-(BUC)=(A-B)n(A-C)

9. GeaTuLmISmeTD vweTuhsS A - (BNC) =
(A-B)U (A - C) erattucng & efluniss.

A B
@ )
C

GHleoL :
A B
{-1,0,2,5, 6,7} @
A-BUC)=1{-2,1,3} .. (1) c
A-B= {2,1,3} Boe A-BRO
A-C= {2,0,1,3} A B A B
(A-B)N(A-C)={2,1,3} .. )
1 ppid 2 edlapba! @ M@
A-(BYC)=(A-B) "(A-C)
C C
A-B A-C
k(15) Sue - 1
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A B AnNB = {8, 12}
(ANBY = {4,7,10,11, 15,16} ....... (2)
-2 A'UB’ = {4,7,10,11, 15, 16} ....... (4)
(3) and (4)
C (AmBY = A'UB
(A-B) U (A-C) 11. QeaTuULRISMEND LWETUhSS

® wopid (2) SlEHS!
A-(BNC) = (A-B) U (A-C) sflunmésiiuLLg

(AN B) =AUB ec@uamss sfuniss.
eflemL :

10. U={4,7,8, 10, 11, 12, 15, 16}, A = {7, 8,
11, 12} wiHmibd B = {4, 8, 12, 15! ercaficb,
woniscofleor seorBglbl&sncor chldscmens

sfluniss.
GSleoL :
(AUB)=A"nB' i)(ANnB)=A"UB
leLDMT&60fl60T 618
AUB = {4,7,8,11,12,15}
(AUB) = U-(AUB)

= {10,16} ... (1)
A = U-A

= {4,10, 15, 16}
B = {7,10,11, 16}
ANB = {10,16} ... (2)
(1) wpmid (2)
(AUB) = AnB

BenGcoTeYy SnITCUSMHEMEIT &|(588)86MT

1) A wbnb B eretrer eTemeuGign)iid &h sevorriseT erevfled n (AUB) =n (A) + n(B) - n (AnB)

ii))  n(AnB)=n(A)+n(B)-n (AUB)
iii) n(A-B)=n(A)-n(AnB)

iv) n(B-A)=n(B) - n(AnB)

v)  n(U)=n(A)+nA")

vi) A, Bwpmbd C eredtuient sremeuGuisnild cpedtm) sevormiser erevfled n (AUBUC) =n (A) +n (B) +n (C) -n

(AMB) - n (BAC) “n (ANC) + n (ANBAC)
vindl 1.6

1. n(A)=25, n(B) = 40, n(AUB) = 50 LMMILD
n(B')=25, ereflsd, n(ANB) g (V)
&HIT 6001 &.

(ii) n(4)=300,n(4UB)=500,n(ANB)=50
wimud  n(B)=350 eefled; 7(B)wmhmrb

n(U) smeunrs.

Swed - 1

il
—
(=)

GHlemL :
(i) n(A)=25,n(B) =40, n(AUB) =50

n(AmB)=n(A)+n(B)—n(AUB)
=25+40-50

=65-50
=15
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n(U)=n(B)+n(B')
=40+25
=65
(ii)
n(B") =350
n(AmB):n(A)+n(B)—n(AUB)
50 =300+ n(B)—500
50 =n(B)—-200
n(B)=50+200 _ 15
n(U)=n(B)+n(B')
=250+350
=600

n(A4)=300,n(4UB)=500,n(ANB)=50

>

2. U={x:xeN,x<10},4=1{2,3,4,8,10}
Lommid B = {1,2,5,8,10} etevflen,
n(AuB):n(A)+n(B)—n(AﬁB)
TEUTLING S SHILTIT & 8.

GhleoL :

LHS U =(1,2,3,4,5,6,7,8,9,10}
A4=(2,3,4,8,10}
n(A)zS
B={1,2,5,8,10}
n(B)zS
AUB=(1,2,3,4,5,8,10
n(AUB)=1
ANB={2,8,10}
n(ANB)=3
n(AuB)=n(A)+n(B)—n(AmB)
=5+5-3
=10-3
=7
n(AuB)=7

RHS

@ wpoib () elwpa!
LHS = RHS (sflurisaiu’Lgi)

[y
B |

n (AUBUC) =n (A) +n (B) + n (C) -n
(A"B) - n (BNC) - n (ANC) + n (AnBNC)
TRTUCNSS S|P&&TE)ID

&6CIOTRIS|6TH& &8 sfuniss.
A={a,ce,f,h}, B={c,d,e, f} ohmud
C={a,b,c,f}

A=1{1,3,5}, B=1{2,3,5, 6} wbmd
C=1{1,5,6,7}

GileoL :
A={a,c,e,f h}
B={c,d, e, f}
C={a,b,c,f}
n(A)=5
n(B)=4
n(C)=4
ANB = {c, e, f}
n (AnB) =3
BOC)_ = {c, f}
n(BNC) =2
(ARC) ={a,c, f}
n (AnC) =3
AUBUC ={a,b,c,d, e, f, h}
n (AUBUC) =7
ANBNC = {c, f}
n (ANBNC) =2

n (AUBUC) =n (A) +n (B) + n (C) -n
(AmB) -n (BNC) -n

(ANC) + n (AnBNC)

7 =5+4+4-3-2-3+2

7 =15-8

7 =7 (EflunmsslurLg)
A={1,3,5}
B=1{2,3,5,6}
C={1,5,6,7}
n(A)=3
n(B)=4
n(C)=4
ANB = {3, 5} n (AnB) =2
BNC = {5, 6} n(BNC)=2
ANC={1, 5} n(ANC)=2
(AUBLC) ={1,2,3,5,6,7}
n (AUBUC)= 6
(ANBNC) = {5}
n(ANBMNC) = 1

8wed - 1
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n (AYBUQ)

n(A)+n(B)+n(C)-n
(ANB) -n (BNC) - n
(ANC)+n (ANBM C)

6 = 3+4+4-2-2-2+1
6 = 12-6
6 = 6 (@EflunmsslurLg)

Swed - 1

([ aU@GLIT60 2 617 61 6T S|

LTETITSERD  @lens 0GB &L

Sivegl @rennpaud LRGsndlnTisar. 25

Lorreui e @lemauilgud, 30 wremTeuTSeT

BTL &SI, 8 LramafseT Glms Lhmib

BTL&D  @rewTigeid  LUBIGsNSmmTaeT

616uf160

(i) @enaullsd Lo (Hid LBIGsMH@L
LomewoTeuT Seifleur 6TeunT6uwTIS 6m .

(i) BIL&SHl60 Lo (HLd LERIGHMELD
LomevTeuT Seifleur 6T6unT6uwTIS 6m .

(iii) eu@LIled2 616 GlLom & LomeuwTeuiT SafleuT
6T6UBT6UDT| SHEMSHEMILIS S5IT 60T 5.
GhleoL :

M D

y

M  eaaiug  Qmsule  URICsHEL
wreeuTseflar Seod wHMD D L
BTLEGdl0 URGsn@L  Lmsmrelisefler
SH6UUTLD 61607 S. GleuETITLL S60nd LieTU(H\GS!.
n(M)=25,n(D)=30,n(M ~D)=8

(i) @emaullsd L LD URIGSHM(GL
LomevoTeur S6flenT 6T60aT600TS6m8

n(M—D)zn(M)—n(MﬂD)
=25-8
=17

(i) BIL&SHl60 Lo (HILD LEICHMELD
Lom6uoT6UIT S 61T l6uT 6T6U0T 60071556085,
n(D—M) = n(D)—n(M mD)
=30-8
22

(iii) eu@LIdled 2 61T e GlLom &g LomewwTeui S6ifleur

il
—
(o]

sTeuuT6uef1 856085
n(M uD) = n(M)+n(D)—n(M r\D)
=25+30-8
=55-8
— 47
45 Gur Qamemi @@  GwWelsd
aICar@maumn  Capimng (Gl
(Coffee) 360605 (@\76utTemLW|LD

slluydlnriser. 35 muisaT Gl LoMHmILD

20 puiser (@erdl _ell@uydlmmiser.

SPSSTamILD HLITS6fl6T 6760t 6mT & 6m SH6miLIS

SIT600T .

(i) Colit LmmLd. Gerbll  G@reuTenL L
&l (pLDLLIGUIT 61T

(i) Cabemy-all@moumgautser.

(iii) @emodlenis T C
&l (HLOLIT S6UIT ST 6

cflemL :

n(U) = 45 U=45

T eteurLg) Camir
edl(pLLUIeuT S6rflewT SH6mTLD 6T6uT &
n(T) =
C stauTLg) @6mLol ell(mLueui sefler Semrid
6T60T &.
n(C) =
(i) Colfit LommLd @eroll  @rewTenL LD
(LD LIGUIT &6
n(C)=20
n(T v/ C) =45
35= n(T)
20= n(C)
n(TnC)=x
n(TUC)zn(T)+n(C)—n(TﬁC)
45=35+20-x
45=55-x
x=55-45
x=10
n(TAC)=10
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QlemGwimeor mél 9 - sevofllgLd
Calfit  wmmid  @erndl  @FewenL b efleoL :
(LT SeflerT eTemtTemTlEemas = 10
(ii) (Bg)g.‘,"smu . el (mLUIT et SeifleuT @) n(4)=n(B) A B
6T6U0T600115>6m 5
n(C-T) = n (C)-n(TAC) (Sire)
~0-10 32+2x=6x
n(C-T) =10 32=4x
(iii) @emollemw edlwLLITSHeuiTserflenr 4x=32
6T6UGT 600116618 =32
n(T-C) =n (T)-n(TC) 4
=35-10 x=8
n(T-C) =25 (ii) n(AUB) =n(A-B) + n(ANB)+n(B-A)

6. & Caraled senllgsdled 50% Lomevoreur ser
Car&dd) QupmerTi LMMIL 70% LOTETTTELITSH6T
Iflelwedled Caiddl Gummeri. GCogid
10% @nrewngad Carddl QumrGsmi. 300
wrewreuisear @@ urLmiseflann Coidd
GummieTaTeTT. @IHs @M Caitamen L [HiGL
Lot 61T 6T HHESTe0 CaiT Qe
LomeuoTeUIT S61Tl6uT 6T6U0T6U0T|S6mSHEMILIS: HIT6TT .

GhleoL :
n(U) =100%

n(MUS) =100 - 10 = 90%
n(MUS)=n(M)+n(S)—n(MAS)
90=50+70-x
90=120-x
x=120-90
=30%
GBIT6Y ETDPICUTEEIT= %X 300

=«1000 Gum

=32+ x+x+5x
=32+2x+5x
=%+ x
=32+7x8
=32+56
n(AUB)=88

7. A oomid B o Qm Semmiser
n(A-B)=32+x,n(B-A)=5xwmmid
n( AN B) = x, 6601 9} emLoeflsvTmenT.
@ s aralensr GeusTULLD eeld GNlSESeaL.
n(4)=n(B), eafldd X @Qear wHliwUE
SITEU0T 5.

il
—
\o

8. 500 wdlyng 2 femwwmeriaamer unmlw

Spuiedlsd, 400 Guit &bl A guib 200 Guit
w&ling B gu, 50 Guir @\ aemssiLmeor
L&lWHSISEmETID  smeUSGeTemeurT  sTeufled
@\g aflwurer &eauem?

cflemL
n(4)=400
n(B)=200

n(4nB)=50

n(4UB)=500

n(AUB)zn(A)+n(B)—n(AﬁB)
500 =400+200-50
500 =550

opeurmed, n(AUB)=500. erenGou @\s

gflwmer &&61606060.
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&l 9 - sevofligLd

9.

iii)

Swed - 1

R SYWKBLGed, 275 1SphIDUM &6
SUpE QFWBS5MEBID, 150 GHIDUMISET
OHIBevs O WSSSTEBID, 45 |ShLOUMIGGET
s OsWHSSMEHID GMmIGETMGoTIT.
125 wopbumiser &blP 10 M M) 1o
Spmdeovs Qswdssransamenyo, 17
GobuRseT ShmEed wLHMD BHS
QAFWBSHMENEETID, 5 &hIDUMISET S5l
LOHMDL SFHd WSS Srensaemyd, 3
\S(bIDUMIGET eP6iTN) C1&F IS S S METT&EEMETILD
armsdnpriser. suWlmpoSiey 2erer
RECANB SOLUYD SONGSS Db
QWSS STAGTWMS] GITMIIGEMTTe e
ereofleo,

RUp AewdSsTamen LG 6UMM IS
Golouniserfler eredorcoofléenss,

Sonhss oy O&FiUSSsmesmen
QUMMRISLD Gblbumiserler ereioreaofléenss,
SWulELSIeL 2 6iTen QIOMS S8 EbLOUMISGETIGIT
erecdoreoofl&emnes OhBWaIMHEnME &MeioTss.
GhlemL :

T, E, wpmitb H eredruent pemmGui sLSILp.,
SpmiSeoldD PN P QFLESH HTeTHenern
QUNMMRIGLD &BLDUIMIS6ME0T HE00TLD 6T60TE.
n (T) =275 &

n (E) = 150 Y

n (H) =45

i a
H=26 W
n (TAE) 125

H (45)

n (ENnH) =17
n (TmH) 5
n (TNENH) =3
6B 6\FILIBSHSMemET LDL-(BLD 6UMMRIGLD GSBLOLIMRISET
148 + 11 + 26

= 185
SONHBSH ST6vIB \FUISHSTETHEME GUMMHRIGLD
&BLOUMRI&6IT

¢
&
&

122+3+14+2
= 141
SRUIGLILIE 2 6Tem CMHSHS &BLDUMIS6M60T
6T600T6001186M8
n(TUEUH) = n(T)+n(E)+n (H)

-n(TNE)-n(ENH) -n
(TmH) + n (TNENH)
=275+150+45-125-17
-5+3
=473 - 147

=326

10. 1000 éfleusmisefiLD BHLSSIULL Shiechlev,
GO0 efleusmblser Qmev LIS TS|, 350
dlaemnilsda Cspars vdiLsrsa)b,
280 dlavsntlsest wWEsTFEGCaEmenid
vilflieLgnseayb OsMehsseori. Coay)b,
120 efleusmilsst Qmev WHMID CHPaITS,
100 dlaweniiset Cspags wHMID
w&ETFECEMETD; 80 eflausmblsst Qmed
wHMD wEsTECsmend LTS ETWLD
viflcLert. QAGeumEp 6fleemuslyb
Coh&cioTLah b IGOMHSS) RUb LSITTaS)
vt Qs ws i ereofled, epeiTm) LUSlTEEHEMTYLD
vfeL efleuemlserflcir ercioTcoofl&cne&cnws
&TGIOT &5,

chleoL :
A, B, C erevtuent pemmGui Qmed, CaoLpeurs.

LOMILD o&snEGaTend Ll eleugmuiserfieor
&600TLD 6T60TE.
n (AUBUC) = 1000

n (A) = 600

n (B) = 350

n (C) =280
n(AmB) =120
n (BAC) =100
n (ANC) =80

n (AUBUC) =n(A)+n(B)+n(C)
-n(AnB)-n(BNC)-n
(ANC) +n (ANBNC)
1000 =600 +350+280-120 -
100 - 80 +n (AnBNC)
1000 = 1230 - 300 +(AnBNC)
1300 - 1230 =n (AnBNC)
70 =n (AnBNC)
ereorGeu, 70 efleusmuiseT eLpeoTm) LIufiTsemenLd
uufrflLeurrgeir.

il
)
(=]
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11.

QsnmpssiucL uLgdeo, n (U) = 125,y
Gheors) X 20 CGured SIHWLMIG WHMID Z
Oheors) X @ 6L 10 Oids&sd ereofled, X, y

wHMID z ShEwammler HIMUS &MGioTs.

ehleoL : n(U) = 125
n(U)= 125 /)

y =2Xx Av&
Z=x+10 5

n(U=x+y+z+4+6+3+17+5

125 =x+2x+x+10+35
125 =4x+45
4x =125-45
4x =80

« =80

4

x =20

y =2x

y =2x20
y =40

Z =x+10
Z =20+10
Z =30

12.

35 LMGOTEUN&ET G&SMEOTL RF 6 ISUBIEL
RaGarpa iy &5 gmed (Chess),
seiorLmiLd (Carrom), Cweanes aufllukbs)
(Table tennis) GpEw eflemerwripserflev
gCssa)Ib Reiremm cflememumpBmmiser. 22
LOMGIOTGUIT &G & &) JMISIPID, 21 LOMGIOTGUIT &6
SGOTLALLWID, 15 wreoraiset Coame
afliuks)b, 10 OTEOTINSET &&)JMI&LD
woHmid Cwene aufliumks)b, 8 LOMGIoTCT &6
&GaoTLALLD ommib Cweame aufllukbsb, G
LOMGUOTGUIT &G @PGITM) GHIECMEITWITL th&GCHEMLD
Meaenwmep B mmiser et cofl 60 ,
(i) #&IgRISLD 1DMHMILD SEIOTLALLLD 6Slcmemumyg
CGweames aMluks 68l6m6mwmLms 6T s 6
(ii) esgRIsD LG EHEETWTEHUGCTSGT
(iiii) svedoTLM LID 101°H1D GflememurruGITeerleoT
cradmcofl ScnsmWeS smeaors. (SMOY
QEIGITULS6mS UWGEITUhLSS|LD)

iii)

eflemL :
A, B, C eretLieoT (ppemm G §SITTRISLD, S600TLMLL LD
LoHmILD GLoems eurflLiLIbg) elememun@GLeTaerfieor
&600TTRIGET 6TE0TS.
n (AUBUC) = 35

n (A)=22 & %,
n (B) =21

n(C)=15 AVA
n(ANC) =10 w

n (AnNBNC) =6 Cas)
n(BAC) =8

n (AnB) =x+6

n (AU BUC) =n(A) +n (B) +n (C)
-n(A"B)-n(BNC)-n
(ANC) + n (AnBNC)
35, =2+21+15-(x+6)-8-10+6
35 =58-(x16)-18+6
35.=58-(x+t6)-12
35 =58-12-(x+6)

35 =46-x-6
35 =40-x

x =40-35
X =5

FSITMIGLD DOMILD &evorLMLLLD eflemerwimg
Gems eNifiLiLBens efleneTIMLIG6UTSET = 5
FSIDTRIGLD DL (BLD eXlememuimBLeTS6iT

=22 -(10+x)
=22-(10+5)
=7
&r600TLIMLLLD LDL(BLD eflememuim(BLeUTSH6T
=21-(8+x)
=21-(8+5)
=21-13
=8

13.

il
e
—

R awLBleeren S50 LOITGIOTG T &6,
CuIBH& epevnsEGam Glevevs;) Ll euedoriy
apevwr&ECamr Glevevs HLECST Ueeflé s
auhgemLLeiTmeoTiT. 25 LoMEoTaUTS6T CUIHHS)
épeopd, 20 wWMeOTGIT&ET LSS Gy GdoTiy
épeoid, 30 LOMEIOTAINSET MHLHBSID, 10
LOITGUOTGUITSS61T @PGOITM) GUGMESL LWGIoTMRISGrflgy)b
UIHBMMTSEIT 6T6afleL 6188 6MEIT LOMGIOTGYIT&GIT
sefluns Sgeorg NS LW EIT M &6rleo
LG uveteflé|s cuhsemLLeTmeoTiT.
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QleomGwimeorr &l 9 - sevofligLd
ehlemL : n(AUBUC) = n(A)+n(B)+n(C)
A, B, C erettueor Guabbgl. LBl&euevorie LDHMILD -n(AmB)-n (BNC) -n
BLHS UeTefl&@ 6dHLD LDIT60oT 6T & 6rf 60T (ANC) +n (AnNBNC)
BEUOTTRIGE 6TE0TE. 50=25+20 +30 - (x +10) - (y +10) - (z + 10) + 10
n (AUBUC) =50 & ® 50=75-x-10-y-10-z-10+ 10
n (A) =25 X\ % 50=75-(x+y+z+10)- 10
n (B)=20 X+y+z+10 =75-50-10
n (C)=30 AWA x+y+z+10 =75-60
n (AnBNC) =10 Xx+y+z+10 =15
n(AnB)=x+10 x+y+z=15-10
n(BNC)=y+10 C (30) X+y+z =75
n(ANC)=z+ 10 aTeorGel, Spevor(B 6UeMELI LI 600T Ml & 6ifl 60
Sy600T(B 6UemELI LILIGOOTRISEIM6D DL (BLD Li6TersE LB ueTefl&H@ 6UdHLD LD IT60oT 6 IT & 6rfl 60T
6U(BHLD LDMEDOTEUTEH6T = X +y + Z 6T6TOTETONEBEmS = 5
vindl 1.7
uevejet Qzfley eflerrssar 5. &b, A=(x,y,z} etentled, 4 @6 Qeunmics
Slpsaeuursunmled Fflwmerg) erg)? SeuTLAlEU6VIT S 2L S6unTrRIG 61f l6uT 6T6u0T 6u0T1 5560085
(1) {7} €11,2,3,4,5,6,7,8,9,10} (1)8 (2)5 6 @7
(2) 7€11,2,3,4,5.6,7,8,9,10} : — oot ; (4) 7
3) 6. Ulewmeumeuereummier &lwmeorg) 61g?
(8) 7¢1{1,2,3,4,5,6,7,8,9,10} (1) Detab (2) Delabl
(4) {7}/@/ {17273543596979899310} (3) {a} € {Cl,b} (4) a {a,b}
eflemL : ()7 €{1,2,3,4,5,6,7,8,9,10} sileo : (9]) & < {a,b}
D P=tx|re Z—tx<l) orem 7. AUB=ANB, 6Teutley
={x|xeZ,-kx
mowrd TTEESTEREBE | () a=B (2 4=B
(1) @mmiys seord  (2) 9H&ES S6uLD 3) Ac B @) Be A
(3) Clounmss seword  (4) 2 1 s6wrid leoL: () 4=B
cflenr : (3)) OIS SWID | g p_ 4 ereviug) B, eraflsd AN B ersviugy
U={x|xeN,x<10} bomid (1) 4 (2) B @)U (4) ©
afled () o efleoL : (4) O
A={x|xeN,2< x < 6} 6T60Tl6V 6T6OTLIG)|
] } 9.  mSed 2 6ier LLGHO g [ P(AAB)]
(1) {176979879} (2) {1927394} QB; &')rrﬁ-u'ﬁ:r&:.
18 (2)16 (3)32 (4)64
@ 2345 @0 LA ”B -
6hl : 2,3,4,5
e : (@)1 } 50 0 10
Bc A etettled n(ANB) eTeuTLg) -
(1) n(4=B) (2) n(B) 75
(3) n(B—4) (4) n(A) 65
efleoL : (%) n(B) &flenL : (3) 32
Swed - 1 k(22 )

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.CBSEtips.in

Qleon@wimeor Frél 9 - sevoflgLD
10. n(A) -10 mﬂ‘]gjm n(B) =15, eteofl6d @meoorib | 17 A, B bmid C erevruient etemeuGuieniLd eLpedTm)
ANB o6teT GomBs ULE  Lmmid seoomigeT erevfld, (A - B) N (B - C) &&&
adlsu’ g 2 miliysefler ereurenilsama SLDLDTEOTS-
(1) {10, 15}  (2) {15, 10} (1) A we@w (2) B @
(3) {10, 0} (4) {0, 10} (3) C wr@Ew 4) ¢ éfleoL : (4) ¢
efieoL : (4) {0, 10} | 18. ] erétrug cpebTm LGETEIGETE 65 METOTL
11. A={2} womib B=p(4) eefled, 4B 2 GAURIBEMNETT &EUoTLD. K ereorugl gEHEID
ayag) @D’GO‘OT@ uasa.f.rm&,‘m &LDLDIT.GS o _eitem L@snrm&;aﬂ@
1) @2} @@ @ @] S0 0D L adus 86 Garnams
oL : (2) (D 616RIGSHMETITLDNS 2 _6T6 2 _(HEURISE6IT S60TLD
erevfled, JNKNL ereotuig
12. @ ou@udled o aier 50  wremreuitseflsd (1) 8mewuss WpeGenemrmiseafeT &60oTLD
35 Gurr Sr6uoTLITL_L_LD (Carrom) (2) s0usE WECETEHIBEM6T H6ToTd
sllememim BlLisuIT &6 LommiLd 20 GLIT SIS (3) BmeiLsss OFECHTET
sllemsmwr(husuiget erafled, Qs @Temr(® BT T TR Spy Ap—
ﬁ)ﬁlso?mu.lrrl;sml_um aflamemuim et aeilsr (4) esm@snevor (psGaneuoTmiseNedT &eooTLD
OTGUTGTO 56 5. éflenL : (3) B bFwUSES G &M G meor
(N5 (230 (3)15 (410 e w&CameuoTmiiserflciT &60oTiD
13. U={x:x<N wpgmb x < 10}, :‘2?1,1-2:3(,5,)8} 19. “Gsn@BssLILLL QeueTULSHSH6D HLpedlLLiuLL
wibgub B = {2, 5,6, 7, 9} aafed. LeSwneng) X y
n [(AUB)'] 6TE0TLIG] M Zz-Xwy)
M1 @2 @4 @8 (2) Xz
eflemL : Si) 1 (3) Z-(XNY)
14. P, Q womib R erevruenT eremenGuIsmild eLpsdrm) (4) Zu (XNY)
sevoTmRIGET eTevfled, P - (QMR) eredtiug éflenL : &) Z - (XNY)
(1) P-(QuR) (2) (PrQ) R : . .
3) (P-Q)U(P-R) (4) P-Q) (P-R) 20. & maled, 40 % LD&ESH6T QIH 6UEME LILPSHEDS
el s (3) (P- Q) U (P- R) LG, 35 % wseseT Speu® GIME
15. Spsaramanio SONN? upmisener LB, 20 % &s6r cperm)
(DA-B=ANB 6U6M&E LILPMRISEMETILD 6X(HLDLBDMITEH6T 6T60f6D,
(2) A-B=B-A GLD&E0OTL. ELPEOTM| 6UEDE LILDMi& 66N U|LD
(3) (AUB) =A'UB ef\BLbLTBET ST F&6SEHLD cTeTerT?
(4)(AnB) =A'UB o M5 @8 @10 @) 15
eflenL : (4) (AN B) =A' UB e : @) 5
16. n (AUBUC) = 100, n(A) = 4x, n(B) = 6x, N
n(C) = 5x, n (ANB) = 20, n (BAC) = 15,
n (ANC) =25 womib n (ANBNC) = 10 erevfied,
X &etr DAL
(1) 10 (2) 15 (3) 25 (4) 30
efleoL : (1) 10
k(23 ) Sue - 1
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